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SOLVING EQUATIONS

NO CALCULATOR 4E1
UNKNOWN ON BOTH SIDES Ref: G241.
Al Solve A2 Solve A3 Solve A4 Solve
2x+7=4x-2 8(x—6)=-T7(x+3) 3(x+4)=—-4(x-2) T(x+3)=5(6—x)
B1 Solve B2 Solve B3 Solve B4 Solve

3(x+5)-7=2(x+2)

6(x+2)=5-3(x-5)

A(x+7)+3=4(8—-x)

5(6—x)—-3=5+4(x+3)

C1 Solve C2 Solve C3 Solve C4 Solve
3x+7 -9x-5 ~Tx+3  —Tx+4 3 4 23
9 5 5 6 2x+4 3x+7 4x+5 4x+7
D1 Solve D2 Solve D3 Solve D4 Solve
5x—4: x+2:§ x+7: ﬂ x_—l_Sx—3:3
4x+1 x=7 4 x+5 5 2 3
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SOLVING EQUATIONS

NO CALCULATOR 4E1
UNKNOWN ON BOTH SIDES Ref: G241.
Al Ux—2=-—2x+7 A2 Bx-U8=-7x-21 A3 3x+12=-Ux+8 Ad 7x+21=30—-5x
8x—-2=7 15x - U8 =-21 7x+12=8 12x+21 =30
8x=29 15x =27 7x=-4 12x=9
x=15 27 9 4 9 3
X=—== = —_-— = —=—
155 o A DIRT
B2 B B4
3x+15-7=2x+U4 6x+12=5-3x+15 3 Ux+28+3=32-Ux 30-5x-3=5+Ux+12
x+8=U 9x+12 =20 8x+31=32 -9x+27 =17
x=-H 9x =28 8x=1 -9x =-10
8 1 _-10_10
X=3 =% 9 9
1 2 4
¢ 15x+35=-81x-U5 C —2x+18=-35x+20 c3 Ox+21=8x+16 ¢ 8x+14=12x+15
96x+35=-U5 -7x+18=20 X+21=16 -Ux+14=15
96x =-80 -7x=2 x=-5 “Ux=1
(80 __5 B i1
9% 6 -7 TR
D1 Bx—l=lx+1 D2 Ux+8=3x—21 L Bx+35=9x + 45 D4 = 3 _10x+6=18
x-4=1 X+8=-21 -Ux+35=45 -7x+3=18
xX=5 X =-29 -Ux=10 -7x=15
(105 (15 _ 15
4 2 ~7 7
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